IRTEREST is a fee that someone pays in order to borrow
money. Interest functions in Two ways:

1. # bank moay pay you inferest i€ you put your money
into a savings account. Depositing Your money in the
bank makes the bank stronger and allows them fo
lend money fo other people, so they pay you inferest
for that service.

L. You may pay interest to a bank i€ you borrow money
from them—it's o fee Jrheg chnrge so thot You con use
Sﬂmamdg else's money before Yov have Your own.
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You need fo know three things to determine the amount of
inferest that must be paid (if you are the BORROWER) or
earned (if you are the LENDER):

1. PRINCIPAL: The amount of money that is being
borrowed or loaned

2. INTEREST RATE: The percentage that will be paid for
every year the money is borrowed or looned

3. TINE: The omount of time that money will be borrowed
or loaned

If you are given weeks, months, or days, write a fraction to
calculate interest in terms of years.

EXAMPLES:

0 &0 10
ar B0 davs =—— vear 10 weeks = — vear
& SRR 57

months = —
) 12

Once Yov have determined the principal, rate, and time,
you can vse this SINPLE INTEREST FORMULA:

interest = principal x interest rate » time
I=PR-T
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BALANCE is the total amount when you add
the interest and beginning principal together.

EXANPLE: You deposit $Z00 into a savings occount

that offers a 5% interest rate. How much interest will
Yyou have earned ot the end of 3 gmrs’?

Principal (P) = $200
Rote (R) = 5% = 0.05
Time (T) = 3 years

ALWAYS CHANGE A
PERCENT TO A DECIMAL
wWHEN CALCULATINGI

Now, substitute these numbers
into the formula, and solve!

I=P-R-T
T = (§200)(0.05)(3)
T = $30

Simple interest can also

. 5
5% interest = 100

S0, for every $100 you
deposit, the bank will
pay you $5 each year.
Then you multiply $5

by the number of years.

be thought of like a ratio.

After 3 years, you would earn an extra $30.
Not bad for jus’r Ieﬂing Your money sit in o bank

for a few Hanrz!
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« EXANPLE:  In order to purchase your first used car,
you need fo borrow §11,000. Your bank agreestoloon
you the money for 5 years if you pay 3.25% interest
each year. How much inferest will yov have paid after i
the 5 years? What will be the total cost of the car?

P = §$11,000

R = 315% = 0.0525

T =5 yeoars

I=P:R-T

I = ($11,000)(0.0325)(5)

I = §1181.50

You'll have to poy $1,1871.50 in interest alone!

With this in mind, what will be the fotal price of the car? :

$11,000 + $1,1871.50 = §12,181.50

The car will cost $12.1871.50 in total.
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~EXAMPLE:  Joey has $3,000. He deposits it in a bank
that offers an annval interest rote of 4%. How long
does he need to leave it in the bank in order to
earn 3000 in interest?

I = $600 (In this cose, we know whot
P = $3,000 the interest will be, but we
R = 4% (use .09) don't know the length of fime.
T=x We use X to represent

time ond fill in all the other
I=PR-T information we know.)

$600 = $3,000(09T

$600 = $120T (Divide both sides by 120
to get T by itself)

5=T

So, Joey will earn $000 after 5 years.

IT'5 BEEN
2 HOURS,

J
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@ CHECK vour (L6 LEDCE

For 1 through 5: Enrique deposits $150 info a savings
account thot pays 4.25% annval inferest. He plans to
leave the money in the bank for 3 years.

1. What is the principal?

2. Whaot is the interest rate? (\wWrite your answer os a
decimal.)

3. What is the time?

Y. How much interest will Ehﬁq_ua earn ofter 3 Hmrz’?
(Round up to the nearest cent)

5. Whot will be Eﬂﬁq_ua's balance after 3 gmrs?

For 6 through 9: Sabrina gets a car loan for
$1500 ot b% interest for 3 years.

é. How much interest will she pay over the 3 years?
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1. Mario also gets a car loan for §71,500; however, his interest
rate is b% for 5 years. How much inferest will Mario pay
over the 5 years?

8. How much more interest does Mario pay than Sabrina in
order to borrow the same amount of money ot the same
interest rate over 5 years instead of 37

9. \Whot does Your answer for 48 tell You about bﬂrmwing
mone 5‘?

10. Complete the following chart:
INTEREST

INTEREST | PRINCIPAL RATE TINE
$251450 5.5% Z years
$297.00 = $6,20000 129%
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CWECK Your [LEISWERS

1. $150

~2. 00415

G

3 years
$£95.63
$845 63

$1550

S e e

$2.,250

8. $900

=

The Imge,r you borrow money, the more interest yov
must pay.

10, | INTEREST | PRINCIPAL | INTEREST RATE

$283.20 $2.51450 5.5%
$2.16.00 $6,20000




